
a = 883, 1, 4<, 8100, 40, 60<, 816, 22, 14<<883, 1, 4<, 8100, 40, 60<, 816, 22, 14<<
MatrixFrom @aD
MatrixFrom@883, 1, 4<, 8100, 40, 60<, 816, 22, 14<<D
MatrixFrom@883, 1, 4<, 8100, 40, 60<, 816, 22, 14<<D
b = 8815<, 8440<, 816<<8815<, 8440<, 816<<815, 440, 16<
b1 = Matrixform@bD815, 440, 16<
Matrixform@8815<, 8440<, 816<<D
Matrixform@815, 440, 16<D
Matrixform@815, 440, 16<D
x = LinearSolve@a, bD:: 489

88
>, :− 29

8
>, : 43

88
>>

Askisi2

a1 = 881, −1, 2<, 821, 1, 5<, 81, 11, 6<<881, −1, 2<, 821, 1, 5<, 81, 11, 6<<
b1 =

2
1 + k
3882<, 81 + k<, 83<<

x1 = LinearSolve@a1, b1D:: 1
76

H−13 + 4 kL>, : 1
532

H−127 + 4 kL>, : 1
266

H257 − 6 kL>>
Askisi3

a3 =
1 2
−2 −3881, 2<, 8−2, −3<<

b3 = Transpose@a3D881, −2<, 82, −3<<
b4 = Inverse@a3D88−3, −2<, 82, 1<<



Askisi4

a4 =
2 1 3
1 1 2
2 1 2882, 1, 3<, 81, 1, 2<, 82, 1, 2<<882, 1, 3<, 81, 1, 2<, 82, 1, 1<<

b4 =
−1
2
1882, 1, 3<, 81, 1, 2<, 82, 1, 1<<88−1<, 82<, 81<<

x4 = LinearSolve@a4, b4D88−1<, 87<, 8−2<<
a4a =

2 1 3
4 2 −1
6 3 288−1<, 87<, 8−2<<882, 1, 3<, 84, 2, −1<, 86, 3, 2<<

b4a =
0
0
0880<, 80<, 80<<

x4a = LinearSolve@a4a, b4aD880<, 80<, 80<<
a4b =

1 2 3
1 3 2
1 3 l + 3880<, 80<, 80<<881, 2, 3<, 81, 3, 2<, 81, 3, 3 + l<<

b4b =
−2
−1
2 − k88−2<, 8−1<, 82 − k<<

x4b = LinearSolve@a4b, b4bD:: −19 + 5 k − 4 l
1 + l

>, : 4 − k + l
1 + l

>, : 3 − k
1 + l

>>
Askisi 6

2   Lyseis.nb



a6 =
1 −4 7
−2 5 8
3 6 −9881, −4, 7<, 8−2, 5, 8<, 83, 6, −9<<

Transpose@a6D êê MatrixForm

1 −2 3
−4 5 6
7 8 −9

Inverse@a6D êê MatrixForm

31
102 −

1
51

67
306

−
1
51

5
51

11
153

3
34

1
17

1
102
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